DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 4)

DIVISION WITH 1 TO 10 Hame:
Time: Score: y—

o) 1960.6 + 2 = 106) —3709.6 -4 =
92 6129 = 9 = 07 —262.2+3 =
93) 69.390 — 9 = 108) 34489 = 7 =
9 7940.8 =8 = 109 109.8 + 2 =
95) 27588 = 3 = 110 55134 + 9 =
96 —T70.51 =1 = 1y —2788.4 + 4 =
97 36450 = 9 = 12 —66.936 + 8 =
9% —272.13+3 = g —1.84 +4 =
99) 496.55 =5 = 14 41230 + 10 =
00 —37.712 + 8 = 15 35.8 + 10 =
) —3664.8 +9 = ne - 6312+ 1=
102) —93.4 =~ 6 = nn 13128 -6 =
103) 289.53 =90 = 1) —18250 + 10 =
109 20.36 = 4 = 119) 6360.2 -7 =
105) 57568 =— & = 1200 —5.376 = 3 =

Mathematics: Division - Level 6 - Horizontal - Set 4
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